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QUESTION 1

Click the Exhibit. 

Your customer has recently migrated from their FAS3140 system running Data ONTAP 7.3.7 to a FAS2552 system
running Data ONTAP 8.2.3 7-Mode through the head upgrade process. They are no longer receiving the weekly
AutoSupport notifications and want to know why. The exhibit shows the AutoSupport options from the nodes that have
the same settings. 

In this scenario, which solution is correct? 

A. There is no reason on the FAS2552 side why the customer should not receive the AutoSupport notifications. They
should investigate their mail server to troubleshoot this issue. 

B. In Data ONTAP 8.2, weekly AutoSupport notifications are no longer sent to the auto support.torecipient, but only
toautosupport.partner.toand toautosupport.support.to. The customer needs to add their e-mail address to one of these
options. 

C. In Data ONTAP 8.2, the protocol for AutoSupport is changed to HTTPS by default, so the customer must have an
HTTPS destination for the AutoSupport data. 

D. In Data ONTAP 8.2, weekly AutoSupport notifications are no longer sent to all recipients to reduce the mail load. The
customer should add their e-mail address to theautosupport.partner.tooption. 

Correct Answer: B 
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QUESTION 2

You replaced the controller of an HA pair in a 4-node cluster running clustered Data ONTAP 8.3.1. You have gone
through all hardware testing requirements before booting the system. Which action is now required to boot the system
successfully? 

A. Use theboot_ontapcommand from the loader prompt. 

B. Use thediskreassign -s -d command from maintenance mode. 

C. Use thestorage diskreassign -s -d command from the cluster shell. 

D. Use thestorage diskreassign -s -d command from diagnostics mode. 

Correct Answer: A 

 

 

QUESTION 3

Your customer has a 2-node cluster with two FAS2554 controllers running clustered Data ONTAP 8.3. You want to
upgrade non-disruptively to clustered Data ONTAP 8.3.1 using the rolling-upgrade method. Which two operations would
you perform before issuing the ~storage failover takeover - ofnode NodeA~ command? (Choose two.) 

A. Upgrade the service processor of all nodes. 

B. Migrate all LIFs used for iSCSI and FC away from NodeA. 

C. Change the default boot image to the new image. 

D. Install the new software image an all nodes. 

Correct Answer: BC 

 

 

QUESTION 4

A large amount of data was deleted from a volume. After a few hours, the space was still not available to NFS clients
accessing the volume. What are two reasons that would account for this problem? (Choose two.) 

A. The volume contains Snapshot copies that were taken before the datawas deleted. 

B. There is a thick-provisioned LUN in the volume. 

C. The deleted data was all deduplicated data. 

D. The client needs to re-scan the volume to detect the changes. 

Correct Answer: AD 
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QUESTION 5

A Linux client is experiencing low throughput when reading a very large file using NFS. Network counters suggest there
is packet drop in the network. To confirm whether dropped packets affect the Linux client, you are collecting network
traces from the affected systems. In this scenario, which two actions would be used? (Choose two.) 

A. Use thetcpdumpcommand on the Linux system. 

B. Use thepkttcommand on the NetApp controller. 

C. Use thetraceroutecommand on the network switch. 

D. Use thetcptracecommand on a Windows client in a separate subnet. 

Correct Answer: BC 

 

QUESTION 6

For the cluster network of a two-node cluster running Data ONTAP 8.3.1, which statement is true? 

A. Client traffic will never be sent across the cluster network, since ALUA automatically chooses the best path. 

B. Only the traffic that is required for a volume move operation is sent across the cluster network. 

C. Only configuration data is sent across the cluster network. 

D. Client traffic will be sent across the cluster network, if the LIF and the volume are not on the same node. 

Correct Answer: C 

 

QUESTION 7

Which two capabilities does the Flash Cache feature have that the Flash Pool feature does not have? (Choose two.) 

A. Flash Cache works for all aggregates assigned to a node. 

B. Flash Cache is a read-onlycache. 

C. Cached data is available and unaffected by takeover events. 

D. Compressed blocks are cached. 

Correct Answer: AB 

 

 

QUESTION 8
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A new storage efficiency job is executed on a volume hosting only a thick-provisioned LUN. Although 45% of the space
was saved, no extra space was seen by the client. 

In this scenario, which statement is correct? 

A. The client sees only the logical space for the LUN. 

B. Thereare volume Snapshot copies that were taken before the efficiency job. 

C. The client needs to re-scan the volume to detect the changes. 

D. The volume is thin provisioned. 

Correct Answer: C 

 

QUESTION 9

A customer recently had a controller module failure on a FAS62xx system running clustered Data ONTAP 8.3.1. The
controller module had been replaced last night and everything is working well but the customer noticed warnings
concerning licensing on the console. The warnings say there is a grace period of 89 days remaining. 

In this scenario, what should be done to solve this problem? 

A. Execute a system restore to recover the previous license keys, and then apply to the new controller module. 

B. Apply the previously used license keys using the appropriate commands. 

C. Collect the new license keys from the new controller module packaging and install them using the appropriate
commands. 

D. Obtain new 8.2x format license keys and install them using the appropriate commands. 

Correct Answer: D 

 

 

QUESTION 10

You log in to a SnapMirror destination to review the system. Which scanner would you expect to see running? 

A. active bitmap rearrangement 

B. container block reclamation 

C. blocks used summary update 

D. deswizzler 

Correct Answer: D 
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QUESTION 11

A user complains that they cannot access a new NFS mount while logged into their Linux client. They are unable to
mount the file system and are receiving an access denied error. The NFS server is a clustered Data ONTAP 8.3.1
storage virtual machine (SVM). Which two steps should be taken to troubleshoot the problem? (Choose two.) 

A. Verify that the access settings of the export policy\\'s rule are applicable to the export. 

B. Confirm that the NFS mount\\'s underlying volume is set to the NTFS security style. 

C. Execute thevserver nfs showcommand on the clustered Data ONTAP cluster shell. 

D. Execute the mount command on the client to determine how NFS mounts are mounted. 

Correct Answer: AD 

 

 

QUESTION 12

A customer observes write latencies above 40 ms on a clustered Data ONTAP system with two FAS3220s for a period
of several minutes each night. During performance analysis, you discover that several back-to-back Cps occur. In this
scenario, which two configuration changes will reduce the write latencies? (Choose two.) 

A. Move the volume with the highest write load to an aggregate with faster disks. 

B. Migrate the LIF with the highest network receive rate to a faster port. 

C. Add more disks to the aggregate. 

D. Add flash cache cards to the nodes. 

Correct Answer: AD 
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